Section 3.1

Using Trigonometric Identities
Part 6

o Given an equation students will be able to
Objective:| prove the equation is true by using the trig
iIdentities.

Study problems
Trig H part 6 wks




Cofunction Identities
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Even and Odd Identities

sin(—¢) =—sin @ sec(—60) =secl

csc(—60) =—csch cos(—6) =cosl
tan(—@)=—tan@

cot(—60)=—cotd



Example
Use the fundamental trig identities to verify the identity

cos(—0) sec(—0) =1
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Example

Use the trig identities to transform one side of the equation into the
other.
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Example
Use the trig identities to transform one side of the equation into the

other. Sin(—6’)
cos(—6)
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Example

Use the trig identities to transform one side of the equation into
the other.
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Example

Use the trig identities to transform one side of the equation into the

e 14 cos(—e))(l _ cos(~0)) =sin’ @
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=EXAltiple
Use the trig identities to transform one side of the equation Ir

other. cot(Z — x) + tan(% — x)
sin(—x)
cos(—x)
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Example
Use the fundamental trig to prove the equation.

1+cosx sinx
sinx 1-cosXx

l+cosx

_ has the conjugate: 1 - cos x |
sin x |
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